Revolutionary Russia: Tsar Nicholas II to Lenin Past Exam Questions

1. “The outbreak of war in 1914 postponed the downfall of Nicholas II but also contributed to his overthrow in the first 1917 Russian revolution.” To what extent do you agree with this statement? 
2. Assess the successes and failures of Nicholas II between 1894 and 1917. 
3. Why did Nicholas II survive the 1905 revolution, but lose his throne in the February/ March 1917 revolution? 
4. Compare and contrast the causes and nature of the two 1917 Russian Revolutions. 
5. Compare and contrast the causes and consequences of the 1905 and February/March 1917 Russian Revolutions. 
6. Analyse the long term and short term causes of the 1917 February/March Russian Revolution. 
7. To what extent was the revolution of February/ March 1917, in Russia, due to the nature of Tsarism and the policies of Nicholas II (1894-1917)? 
8. “The First World War was the main cause of the 1917 February/March Revolution in Russia.” To what extent do you agree with this statement?
9. Analyse the causes and immediate consequences (up to 1921) of the October 1917 Russian Revolution. 
10. Analyse the reasons for the success of the Bolsheviks in the second (October/November) 1917 Russian Revolution. 
11. Why was the Provisional Government in Russia unable to consolidate and maintain its power in 1917? 
12. Compare and contrast the roles of Lenin and Trotsky in the 1917 Bolshevik Revolution in Russia, and in the foundation of the new Soviet State until 1924.

13. Analyse the rise to power of Lenin. 
14. Lenin was able to consolidate Bolshevik rule in Russia by combining popular policies and repression. 
15. To what extent do you agree with this statement about Bolshevik rule up to 1924?  “Lenin abandoned ideology in order to gain and consolidate power.” To what extent do you agree with this statement? 
16. “The Bolshevik state under Lenin between 1918 and 1924 was a ruthless dictatorship, caring little for the Russian people.” To what extent do you agree with this statement? 
17. How successful was Lenin (1917 -1924) in solving the problems he faced?
